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Low High
chattering++ chattering=0
empty_count++ empty_count=0
UDL full_count=0 full_count++
chattering>=DF_CHAT_CANCEL
true:chattering=0, ST=2
false:ST=0 ST=1
chattering=0 chattering++
empty_count++ empty_count=0
UDH full_count=0 full_count++
chattering>=DF_CHAT_CANCEL
true:chattering=0, ST=7
ST=0 false:ST=1
chattering=0 chattering++
empty_count++
L full_count=0 full_count++
empty_count>=empty_detect chattering>=DF_CHAT_CANCEL
true:ST=4 true:chattering=0 , empty_count=0, ST=7
false:ST=2 false:ST=3
chattering=0 chattering++
empty_count++
LH full_count=0 full_count++
empty_count>=empty_detect chattering>=DF_CHAT_CANCEL
true:ST=4 true:chattering=0, empty_count=0, ST=7
false:ST=2 false:ST=3
chattering=0 chattering++
EL full_count=0 full_count++
chattering>=DF_CHAT_CANCEL
true:chattering=0, empty_count=0, ST=7
ST=4 false:ST=5
chattering=0 chattering++
EH full_count=0 full_count++
chattering>=DF_CHAT_CANCEL
true:chattering=0, empty_count =0, ST=7
ST=4 false:ST=5
chattering++ chattering=0
empty_count++ empty_count=0
L full_count++
chattering>=DF_CHAT_CANCEL full_count>=full_detect
true:chattering=0, full_count=0, ST=2 true:ST=9
false:ST=6 false:ST=7
chattering++ chattering=0
empty_count++ empty_count=0
HH full_count++
chattering>=DF_CHAT_CANCEL full_count>=full_detect
true:chattering=0, full_count=0, ST=2 true:ST=9
false:ST=6 false:ST=7
chattering++ chattering=0
empty_count++ empty=count=0
FL
chattering>=DF_CHAT_CANCEL
true:chattering=0, full_count =0, ST=2
false:ST=8 ST=9
chattering++ chattering=0
empty_count++ empty_count=0
FH
chattering>=DF_CHAT_CANCEL
true:chattering=0, full_count=0, ST=2
false:ST=8 ST=9




